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OPTION-A

(Advertistng )

PaPer: COM-RE-6016

1. Answer the following questions as directed :

1x 10= 10

frft1nF s*{ grfr<FFl €e< R"{t :

(t) State True or False :

eh dqs6 fr{l s

(a) Adverlising is a technique of
promotion.

Fena €A6f€q< dbrqq&t i
(b) Advertising is a two-WaY

communication Process.

fiepn c'E hE c{Htmtf d&$t

(c) Newspaper is a form of social
media.

{sR $rs c'q qn|&-s ntw{ sF eF K I

(d) An advertising agency works for
clients.

,{bt frsna qqR qr{q-{-€< {-r< o|{
<Ftr{ I
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(ii) Choose the correct answer :

{fi-$ ffif rr&0h€o s

(a) Personal selling is not targeted
towards

<l&qs R-frc-r qsl {$-c<

(i) mass audience

Tqq q.rs

(ii) personal contact

<l&elg Rtrflzqtrt

. (iii) two_way communication

fttr crfrfl-c{lrf

(iv) quick feedback

ftq p-41p-q

(b) The fastest growing medium of
:rdvertising is

&is R$Ffs Retqq<:il<]T kcq
(i) rv (fr&)

(ii) Radio (q{l9K)

(iii) rnternet RDnrFl
(iv) Newspaper (Tffi $I$tr)
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ftit) Fill in the blanks :

{tff}Rt{qGI s

tat media is concerned with
external disPlaYs'

qRsr

(b) advertising is about
truth, fitness and equitY in

' communication'

Ret'F {'E csldtclttK csl,

4IlT'FtT'[5t qFF qnsF ll-d'l I

fiul Write the full form of :

{<a fr"+ :
(a) AIDA

(b) ASCI

2.. Write very short answers to the following
questions ' 2x5= 1O

s6r< d{qTq< q& D{€-w fr.lt c

(a) State the meaning of advertising'

Fqq-a< qdfr{r
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(b) State fi.ao adverse impacts of advertising
on the society in India.

sRs<f< wlw sq<s fu"F< Ia ftE gq<
v@{ Fttl

(c) Mention fiao objectives of advertising.

fieqqq fA AaU€m?rcir

(d) What is an advertising appeal ?

Repn< qr<qs frr

(e) Write furo advantages of SMS
advertising.

sMs fiEIeFK ftt {R{| fr"{r

3. Write short zrnswers to the following
' questions : (ang Jour) 5x4=2O

qs€c$llffiarF{Fu1uwfr+:
tfutarnffiu

(a) Explain the steps of advertising
communication process.

Fsr"n< cslstkRtrf a&m v<qqvr+l +<tr
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(b) Explain the role of audience analysis

in advertising.

fiq'nv qfs Rcd{q< gfr-o o"tll+<tt

(c) Discuss the essential elements of

advertising budget.

Retqa <frst< gtflsrftr $e6aqg qlcqlD-{l

sill

Explain the economic imPact of

advertisement.

Fg.tqq< qafuGs ersKl fiTc{ <iFljl s-{l

(d)

(e)

a

ExpLain the pre-requisites for sound

media planning.

<il<I $?TI I

Describe the qualities of a

advertising copy.

good

Bsx 6*1* G'Fr< e$e"rc{q <fdl qdl I
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4. Answer the following : (ang four)
1Ox4=40

(a) Describe the importance and limitations
of advertising. S+S= I O

Rgpn< e$q qt+ fustrTq <f+t qt 
r

(b) Wl:at are. the different methods of
setting advertising budget? Discuss.

FwpR< {reb fift{< eHrffqq fr ft r qrE|Fr
Ftll

(c) What are the major media used in
advertising ? Describe.

Rqq-rc <r-{cn 6qt<t W ftrlt<K fr fr? <f{
F{II

/d/ Explain the merits and demerits of
intemet as an advertising media.

5+5=16

fier"ra< ffiil d?u-c,f Rffi lRqt qr
q$qi-{< <nqil ctl

4 (sen-6/cBcslRE l/2/3/c T



What are the different types of
advertising aPPeals ? Discuss'

fiGa :r<a< Ret'F< qR-<qrcTtft ft t qrqlu{t

:tril |

Discuss the major factors which
influence media scheduling'

sda $q,o qfr151s EsK c'1-5df<t 1af €'flq{'q{q
' qlcilFil €ll

@) What is advertising effectivenes.s ?

Describe the need for measuring
advertising effectiveness. 3+7=lO

fierqq< €gFNI nrn ft? fiqqq< FSWI
csFlril'Fr gt-qsrfiT-st <f+ qq t

(tL) Discuss the various legal aspects to
control advertising in India.

sr<s<6 fiwr"n fiaqq <R<< +l<(q cFil fr&R

qEft f irsK qIFIIFII 4.{ll

(e)

a
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OPTION-B

(Banking)
Paper: COM-RE-6026

1. Choose the correct answer : 1x10=10

\eq ffit <rRSRe<r :

(a) In which year was the Reserve Bank of
India nationalised ?

rt-{ Eds ffi m<n {Er'$<q <t tcfur
0 1934 (:bs8)

- @ 1935 ()bea)

, (iii) 1948 (:b8r)

(iu) 1949 (:b8b)

(b) Gen erally which banking system is
foilowed in India ?

' ct$<q1gs]-<q<6 c+nril m(ft< <raqf qlryqq

Gt qn?

(i) Unit Banking <criF c<sft()

(ii) Chain Banking tc&a 6qG5,,

/iiiil Branch Banking (tf{l F(ft()

(iul Retail Banking (S{| Frft()

Contd.a {Sem-6/cBcS} RE l/2/3/c 9



(c) A savings bank account in the sole

name of a minor can be opened
provided he has completed

qq-{ 4lTlECS ft$4 <TFts frq< 4Ig ebtq?pfi

Run {fr< "fic-{ ?

(i) 1O years (>o <Fs)

(i4 12 years (>t <Ws)

(iit) 18 years (:Y <W)
(iu) 21 years (f) <Fs)

(d) The most important principle of sound 
1.

lending is :
qrorrnffis sq"l{ffiEr <lcf fie ?qcq

(, safety

T<$I

(ii) securit5r

fr-{"rsf

(iil liquidiry
- Ef{{fsf

(iu) profitability
?ilEq-{s
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(e) In which year were six more commercial
barrks nationalised ?

csF D-dtr qrDt <ffEers K(sF <|sr-s{q s-{

ft) 1969 (>lvl)
(iil 1975 (:tqc)
(iit) 1980 (:lt'o;
(iu) 1982 (>lu-l)

A A cheque which is not crossed is called
open cheque.

qq{ cFT RFsr c<"ft(RE ctt {qr sr$ TsR
{ 6F-$ KICE I

(t) Correct
sh

(iil Incorrect
qe6

(g) "Cash credit is a secured advance". The
statement is
"qrfq <l6f {<frs qfdT t" Uffit-
0 Correct

$h
(iil Incorrect 

,qsq
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(h) Which of the following is not a
negotiable instrument?
g.d.<.6si{& qgls<trtrf qfrq aq-Tl

0 Cheque

cts

(ir) Pass Book
effK-s

(iit Bill of Exchange

Rfi{r R.q'

(iu/ Promissory Note

s^ls@l "13

(t) 
Hlil:x? *""lT"*t"* 

cannot be a

sq"< rsl{rd qs F(s{ dl-qs < FKII<?

(i) Minor
qr<rqT

(ii) Married women

ffi{trdr
(iii) An insolvent

qq{ cqBfun <l&

/iu,f A club

SDIF'K

4 {Sern-6/CBCS) RE 1l2l3lA 12



0 A collecting banker is given statutory'

protection onlY when it acts as

c(€|{sR c<(rs RR<6 T{sl 'fidil{rq sd{

dm*&r x*sK er{ c-'tt6 3R.< 4fi<1

0 a holder

swl {Fls

(it) a holder for value

qq{{qI{<q {Frs

' (iO an agent

,{q{ SCqb

' (iu) a holder in due course

.q'q-{ {qRfu {Ks

2. Answer the'following questions :

2x5= 10

v4< erfi{q< Bs< fi{ z

(a) Whlrt is Scheduled Bank ?

$-w KKfr?
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(b) What is unit banking ?

cerF mifri ftr

(c) Write two features of negotiable

iristruments.

qg|s{c{tril qRE< r'r ?<fib fr<r r

(d.) Name ang fourdocuments of title to
goods.

<lFt-s<r r|<tfr qaR /?Z"??6il nR<6K qll fr?l.t r

(e) Write filo advarttages of crossed cheque.

R{fi(fu cDF fEr nRqt fr{ |

3. Answer ang fourof the following questions :

(in about 2OO words each) 5x4=2O

.M< &E-<lc)

(a) Prepare a specimen of a bank balance' 
sheet.

Frc< €q6 
"r.{--{ 

qo qfF &TK +-{t,

4 (Sem-6/CBCS) RE 1 l2l3lc 14



Distinguish between a cheque and a
bank draft.

Frc grsi qFF c5-SI Tfq< elFq cq-{s<l I

Distinguish between holder and hoider
in due course.

{q|IRRe- :rK$ qFF {-aqq :Nq< e19q cql€<t I

Under what circumstance s the payment
of a. cheque must be stoPPed bY a
bank ?

ftft qRRfrtr FKs ctrsttrd rRr${{R-tE
<t{t {43?

Explain the meaning and signi{icance
of endorsement.

19]i+=r< qal qFF s$9 <Il?lll o{ I

Explain the meaning of crossed cheque.

c<{Gs cb-F{ qaf <fl?BI T{l I

4. Answer ang four of ttre following questions :

(in about 6O0 words each) 10x4=40

fiffis Azan-{/ DfiFt em< Ee< F n e (dFcfi goo

'K< Gs<tr)
(a) Write a note on the evolution of banking

in india.
vFtee c<iGr @nRsFt q-'n6 sF d|st fi?|lr

a {Sem-6/CBCS) nn rp p1c 15

(b)

(c)

(d)

(e)

a
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(b) Write in brief about the different
E-banking services and also mention

their merits. 5+5= 10

E-mft<< R&a ca-<t< €'FE DSs fi=tt qt+

ks< nft{c-d< €inq o<tr

(c) Define the term tustomer'. Elaborate
the general relationship between banker
and curstomer. 2+8=rO

dS q(Et fi$ 1 6ia ffi ap€ cFF.i c-{6
6<tq aqEft fr"{1

(d) Discuss the procedures of opening
account in the name of a minor.

'sqr il<Fro atrs fuH crmn afrmfi qrEo-+

Gl I

(e) Who is collecting banker ? State the
statutory protection granted to the
collecting banker under the Negotiable
Instrument Act, 1881 . 3+7=1O

q(q<{ft G.'-S rF? 5yy5 w4qgtgqRffqfi-E
qRq< sQ$s lieFa$tR mi+n aqn F<l fiit<E
EE5q-r{{FtRFl q|cdTts"{I Gl I
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What do you mean bY crossing of
cheque ? ExPlain the significance of
.ro""ittg of a cheque. 4+6=10

c5T.r R{l(€ T16{ ft TqI r Ft[sfi*- CFfi ssq

<l"fi €tl
Define endorsement. What are the

different kinds of endorsement ?
2+8=lO

1$tr.o< xet fiil r $tio< R&a erot< REto

fo ftr
(h) Discuss the powers of the Reserve Balk

of India under the Banking Regulation
Act, 1949.

) b8b w{ *i5i 6qs6F qR{< qR4s q<q{

1W mi<imeFxqlpilFllelt I

a

@)
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OPTION-C
( Management Accounting )

Paper : COM-RE_6036

1. Answer the following questions as directed :

1x10=10

ffir q-flR Eqs fi$ qrr<tsl €e< frrt:

(a) Management Accounting is the
presentation of information to
the management.
(FiItup the blankwith appropriate word"/
words)

<l<Ef'fn ft1e6q q'E <1-qEfef{f R-efrbE
sqlc{l<K s"rql"m Rf r

16"tyw *tER 4tfr Jr? F,t oil)

(b) Management Accounting is related to
recording of accounting data.

(State'whether the statement
is True or Fatse)

*"f+ foi"f+<q, Rulof+-<t< Eaf131u-{
qRVe<,Kq< Eio q&s 

r

(6ffit'cn cq wsa 6en</ oit)
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(c) Current ratio measures the long-term

solvency of a concern.

(State whettrcr the statement

is True or False)

uRo w*ms qbf sffi;K fiffi mt{ sTof<

qRqt"F sr< t

(6ffit sq ffi w'ea 6m4 44t)

(d) Balance Sheet is also known as

Statement.

(Fillup the blankuith appropriate wordl

uords)

W qer R1&e c$'Rrt E{ |

@qW ,'lvg .lfr rF e|<,f o<t)

(e) Master Budget incorporates all

. budgets.

(Fill up the blank uith appropriate utord/

words)

{Et<<lrsTrtq-$(El i <ffi<-$rilTR
E{ | (641'rv" 4q3 "1fr ,tV e1<ct o<t)
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a The act of preparing a budget is known
as budgeting.

(ftate whether tlrc statement

is True or False)

<nqt Ew $-{r st6-s <rrqFi mK q{ |

(Sffit sa.d wsa- 6mq <qrl

Standard Costs are pre-determined
costs. (State uLrether the statement

is True or False)

{1n-$ "tR<l-!r{K td-frh1Re qRi]T q*r
(6ffit ea d wea 6m"t <qt)

Standards set provide yardsticks
against which are compared.
(FiIl up the blank uith appropiate word/
words)

gliJ <qt rFT-$Kr6< ntffi gqF sr< q< Rq.frcE

@)

(h)

(64;m,tqn <IA rr? q<qo<t)

a (sen-6/CBCs) RE t12l3lG 20



p) If P/V ratio is 3Oo/o, it means that
variable cost is 7Oo/o of
(Fllt ip the btankuith appropiate word/
words)

F{ & q"{'ns rft soy" s{, sR qqf q'E

4R<6+frE 4Rfi _4 7oo/ol

@W rfq:F 
"nfr rF oltct o<t)

0 A fixed cost is fixed per unit at all levels

of production.
(State utlettrcr tle statement

. fs True or False)

Eqcnqm afut sls, R< <rr qfufi "r"ilqt{ft<
<rm fr< qmot

(diG ea d qcra 6@4 44D

2. Answer the following questions : 2x5=10

s4{ $$qT{< ve< fr'+t :

(a) What is Management Accounting ?

<F$"m 61"6qq ft qr

(b) Explain the meaning of Accounting

Ratio.

Rsr"mq q1"rs< qd<fl"fll T<l I

4 (Sem-6/CBCS) RE 172 /3/G 2l contd'



(c)

(d)

(e)

What is flexible budget ?

qrftr <trqb fr qnr

What do you mean by variance
analysis ?

e{-sr Rarqq ficE fr lgrr
Determine the amount of variable cost
from the following particulars : .

srcfiR'f sl16qp{ 'Kf qffefu qft.<i{ffi<q
G{I S

Sales (R-fi)

Fixed Cost (fu qR-<ill

Profit (Efs)

: Rs. 1,50,000

= Rs. 30,000
: Rs. 40,000

3. Answer ang four of the following questions :

Sx4=2O
s-q-s frTf srtrrK{ "r<i ftotql Dfffia €s< fr?fi ;
(a) Mention ang fi.ue distinctions between

cost accounting and management
accounting.

<i-l Ru"r+<q w$ <lrEteFI futqn<m xpsq+r €zoz.il drffi qtqfot Bce"f *,
a (Sem-6/CBCS)RE tl2l3lG 22
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(b) ExPlain ang rtue limitations of

management accounting'

<r{El'f{l Rn"r+<'r< frrcw 'fiFa ffnFlqgt

<lF0l €f l

(c) Explain any fiue distinctions between

ftxed budlet and flexible budget'

&< <rrqt qr+ arfu <trqt< flqs ain.t frrfrtal

"DUF1 
4cfa1 <lt?01 cil I

(d,) Explain the procedure of ascertaining

A standard cost.

TFr-s qR<Ir fi{<q E@n <Jl"]].t o{tt

(e) Mention ang fiue features of marginal

costing.

$fu "iR<lr< ffi fiFat ?<fiEi €mq mt t

A A firm manufacturers 1,0O0 small
cycles, the cost contents per unit of

which is given below :

qB sfr6ro l,ooobt{$ 6ffia $vxq{ sc<;

sqs sfufi Dfts-d< T-sR-<<q fi$ q'e :
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In view of ttle keen competition in the
market, if the management decides to
reduce the selling price by 

. 
10%,

other factors remaining the same, what
quantity of product must be
manufactured and sold to get the same
quantum of profit ?

4 (Sem-6/CBCS) RE tl2l3lc 24

Per Unit Cost

Materials

"tqi c'Ffi

Labour
qfr-$

Variable overhead

"fffi sGRe <tr

Fixed overhead

ptfi qGRs <ll

Total cost

{a <i.r

Selling price per unit
q&dn fr-6Xcl



<q.rs sch< qffitr'gl< {RRC$,4fut{-{f-

Rsrc{ sfr R@rTry 10% el{ <t< fiars Er'

wiw s"nqFcTq qqR"<66 ER, recs em
qfutq ds \tr6{ FIFI <rc<, ft 4R:ilq ERr@

Eqonq{ q$ R-6 sR< EIn< F6<"i fiI1

4. Answer ang four ol the following questions :

10x4=40

ses fi$ sdc{l<< "K frr+?r4l rffiFr+ te< F{ :

(a) Explain the functions of Management

Accounting.

<FtEt"l4t frsr"mq-< ddJcT{ {Jl"fit FI I

(b) What do you mean by ratio analysis ?

Mention ang four advantages and ang

pur limitations of ratio analysis.

2+4+4=IO

ql'ils Rc?|{rlft-q ft Tqt? q{'fltr Rcas'f{

fuam lF{q$ fr@lr4t6tffit ftrFqEI

tm'q et r
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(c) The following are the details of
M/s. ABC Ltd. for the year ended
on 31st March, 2023 :

M/s ABC Ltd.-< 31 q6, 2O23 efR{s
wwe|Tt <wra< <tr< R-ff6fq{q EEE firt {h s

0 Stock T\.rrnover Ratio = 6 times

Tqs 'tfi btq'-wsn qfltr

(it) Gross Profit Ratio = 2Oo/o on Sales

{, e|g< q{fls

(ttt) Sales for the year 2O22-2O2g
= Rs. 3,OO,OO0

2022-2023 <5rFf{ <tc{ Rsr

(iu) Closing Stock is Rs. 10,000 more
than the opening stock
\flTsft TEs ef6fs?<F l|v<ft q-s 'fql
10,ooo lst c<F

(u) Opening Creditors = Rs. 20,000
qTsft efieagq'K

(ut) Closing Creditors = Rs. 3O,O0O

qfr<fr {Tsdtqr-{
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(uii) Trade Debtors at the end

= Rs. 60,000

q'N{ft <l'tefl<-ffiTmK

(urii/ Net Working Capital = Rs' 50,O0O

ffio.ffiTEqF

Find outl
fikftq Gt-
(i) Average stock

ep lqo 46[

' (iil Purchase

4-{

(iii) Creditors Turnover Ratio

qt€4tqK ffiqst< w{4r

(iv) Average PaYment Period

al_v wR orq

(v) Working Capital Turnover Ratio

a1ffi T{$K ffi-sw q{4ls
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(d) The expenses for the production of
5,000 units in a factory are given as
follows :

qEf ot<"flitv s,ooob ?$ffi gqF?ffi <lr-qT{
sEs fiRI Eh', s

. Prepare a budget'for the production of
8,000 units.
8,ooob ctF Bqcttq+< 11-6< ilst erw €ll

4 (Sen-6/cBcS) pe, r12/s/c 2A

Particulars (frr<ct) Cost per Unlt

lRs.l

Materials (rlt cpft) 50

Iabour (qfis) 20

15

Fixed overheads (Rs. 50,0001

tfr qGRF 3n (so,Ooo bat)

10

Adrninistrative .rprnr., 15Vo u*i"blq
fitqfir rF (5yo qfu-dn)

10

Selling expenses (20% fxed)

frq rF (20y" tfr)
Distribution rrprnr., ltOo/o fordl
frwq 4r (ro./" tft)

--

Total.cost of sales

$ fi-*r <lr

6

116

V.ariable overheads (qk6T s&Rs <tr)



(e) The following data have been extracted
from the books of Mls. KYZ Co' Ltd :

Mls. KYZ Co. Ltd.-< <fu "R PEs fiTl

sqSr<K C4<t r{(q:
I{atedals

s fixff

Stradard Qmntity

l0dtsl

ffi,ftfi

shrfud hicc

1a Ulit [tu.}

affin*mn

$'d)

Achal

Qmlttty

[0dhl

w qfi{q

AcM Pdce

Fr udt {k,l

afrdrww
0{t)

A 80 8.00 90 7.50

B 70 3.00 80 4.00

r50 170

Calculate- 2.5x4=lO

fifr<t-
0 Material Cost Variance

, {qr {|nft< <j-s &s-sl

@ Material Price Variance

4.[ c]Ifi-{ {E] &r-sl

(iirl Material Usage Variance

4qr iffifi< <KCR fu
(iu) Material Mix Variance

qql c.llft< frqq &{-sl
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A Explain any fiue advantages and any
fi.ue tirnitations of standard ..TltlrO

rFrs <Fr Rupro<m frcqtdt "nffi rRrt w
freq.mt ?bA fiTmalgt ilqil s-{tr

(g) From the following data, you are
required to calculate break even point
and net sales value at this point :

sEsfiTIEaIIKFFT e6t, GTRIp4Rtqf+ Oo
k-vq Rao fron pl fr6 o-<l :

Particulars

Direct Material
ersls {qI q]Ilft{

Cost per unit
atr.gdt RUffi< <rR

Direct Labour Cost per unit
etsrr qfrs aE QBffi< <n
Fixed Overhead
qtfr wtrRe <n

50,000

Variable Overheads @ 600/o on
direct labour

"tR<6ftr qGRs <n

Selling Price per unit
qfubrRbffi{ fr-+x pi
Trade Discount
<r<'qTR-s Tlbr
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t
l\:-
..

If sales are 10% and 25oh above the

break even volume, determine'the net
prolits.

KsA-q R-ql-< seFls 10% ql$ 25% qfi's

R-4{ Rl-$ {Rq oF qls frqkq sqt t

(A Explain the following terms in relation
to marginal costing : 2x5=10

Stfu '[R<I-{{ E ts {T{ {tR sqs fr-Tlr{KE

<lltft qt :

(t) Contribution
sfrfiB"F

(it Angte of Incidence

ffi{ 55H

(iiil Margin of SafetY

fiqHsK ffflK"fi
(iu) Profit-Volume Ratio

Els-qTlql w-{'lls

(u) Break Even Point

6stcq "Rb
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